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g§H${bV narjm – II 

SUMMATIVE ASSESSMENT – II 

{dkmZ 
SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90  

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 20 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >42  àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo 
n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 20 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 42 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The 

question  paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the question paper only and will not 

write any answer on the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) Bg àíZ-nÌ H$mo Xmo ^mJm|, ^mJ A Am¡a ^mJ ~, _| ~m±Q>m J`m h¡ & AmnH$mo XmoZm| ^mJm| Ho$ 
àíZm| Ho$ CÎma {bIZo h¢ & 

(ii) g^r  àíZ A{Zdm`© h¢ & 

(iii) AmnH$mo  ^mJ A Am¡a ^mJ ~  Ho$ g^r àíZm| Ho$ CÎma n¥WH²$-n¥WH²$ ^mJ Ho$ AmYma na 
{bIZo h¢ &  

(iv) ^mJ A Ho$ àíZ g§»`m 1 go 3 Ho$ àíZ EH$-EH$ A§H$ Ho$ h¢ & BZHo$ CÎma EH$ eãX AWdm 
EH$ dmŠ` _| X| & 

(v) ^mJ A Ho$ àíZ g§»`m 4 go 7 Ho$ àíZ Xmo-Xmo A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J  
30 eãXm| _| XoZo h¢ & 

(vi) ^mJ A Ho$ àíZ g§»`m 8 go 19 Ho$ àíZ VrZ-VrZ A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J  
50 eãXm| _| XoZo h¢ & 

(vii) ^mJ A Ho$ àíZ g§»`m 20 go 24 Ho$ àíZ nm±M-nm±M A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J 
70 eãXm| _| XoZo h¢ & 

(viii) ^mJ ~ Ho$ àíZ g§»`m 25 go 42 Ho$ àíZ à`moJmË_H$ H$m¡eb na AmYm[aV ~hþ{dH$ënr àíZ 
h¢ & àË`oH$ àíZ EH$ A§H$ H$m h¡ & {XE JE Mma {dH$ënm| _| go AmnH$mo Ho$db EH$ g~go 
Cn ẁº$ {dH$ën MwZZm h¡ & 

General Instructions : 

(i) The question paper comprises of two Sections, A and B. You are to 

attempt both the sections. 

(ii) All questions are compulsory. 

(iii) All questions of Section A and all questions of Section B are to be 

attempted separately. 

(iv) Question numbers 1 to 3 in Section A are one-mark questions. These are to 

be answered in one word or in one sentence. 

(v) Question numbers 4 to 7 in Section A are two-marks questions. These are 

to be answered in about 30 words each.  

(vi) Question numbers 8 to 19 in Section A are three-marks questions. These 

are to be answered in about 50 words each. 

(vii) Question numbers 20 to 24 in Section A are five-marks questions. These 

are to be answered in about 70 words each. 

(viii) Question numbers 25 to 42 in Section B are multiple choice questions 

based on practical skills.  Each question is a one-mark question. You are 

to select one most appropriate response out of the four provided to you. 
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^mJ A 
SECTION A 

 

1. gabV_ EoëH$mBZ H$m Zm_ Am¡a CgH$m amgm`{ZH$ gyÌ {b{IE & 1 

Write the name and the chemical formula of the simplest alkyne. 

2. _mZd _mXm Ho$ eara Ho$ Cg ^mJ H$m Zm_ {b{IE Ohm± {ZfoMZ hmoVm h¡ & 1 

Name the body part in human female where fertilization occurs. 

3. Eogo {H$Ýht Xmo Kaoby An{eîQ>m| Ho$ Zm_ {b{IE {OZH$m gabVm go nwZ: MH«$U {H$`m Om 

gH$Vm h¡, naÝVw h_ CÝh| àm`: H$Mam-noQ>r _| \|$H$ XoVo h¢ & 1 

Name any two household wastes which can be easily recycled, but are 

generally thrown in the dust-bins by us. 

4. _mZdm| Ho$ ewH«$mUwAm| Am¡a AÊS>m| Ho$ ~rM JwUgyÌr` AÝVa Ho$ _hÎd H$m C„oI H$s{OE & 2 
Mention the importance of chromosomal difference between sperms and 

eggs of humans. 

5. ZrMo {XE JE AmaoI H$mo AnZr CÎma-nwpñVH$m na nwZ… It{ME Am¡a Xn©U go namdV©Z Ho$ 

níMmV² àH$me {H$aU Ho$ nW H$s {Xem Xem©BE & AmaoI _| AmnVZ H$moU ‘i’ Am¡a namdV©Z 

H$moU ‘r’ ^r A§{H$V H$s{OE & 2 

 

Redraw the diagram given below on your answer-sheet and show the 

direction of the path of the light ray after reflection from the mirror. Also 

mark the angle of incidence ‘i’ and angle of reflection ‘r’ in the diagram. 
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6. Ob H$mo ^m¡_Ob Ho$ ê$n _| g§J«{hV H$aZo Ho$ Mma bm^m| H$s gyMr ~ZmBE & 2 

List four advantages of water stored in the ground. 

7. AnKQ>H$ Š`m hmoVo h¢ ? n`m©daU _| AnKQ>H$m| H$s ^y{_H$m {b{IE & 2 

What are decomposers ? Write the role of decomposers in the 

environment. 

8. ghg§`moOr Am~ÝY Š`m hmoVm h¡ & hmBS´>moOZ (na_mUw g§»`m 1) Ho$ {Ûna_mUwH$ AUw _| 

Am~ÝY ~ZZm Xem©BE Am¡a Bg àH$ma ~Zo ghg§`moOr Am~ÝY H$m Zm_ {b{IE & Bg àH$ma 

Ho$ Am~ÝY H$mo {H$g àH$ma {Zê${nV {H$`m OmVm h¡ ? 3 

What is a covalent bond ? Show the bond formation in a diatomic 

molecule of hydrogen (atomic number 1) and name the covalent bond 

formed in this case. How is this type of bond represented ? 

9. ZrMo {XE JE `m¡{JH$m| H$s g§aMZm Ho$ AmaoI It{ME : 3 

(i) _oW¡Z 

(ii) EoWoZ 

(iii) EWoZm°b 

(iv) EWoZm°BH$ Aåb 

(v) ã`yQ>oZ, C4H10 Ho$ Xmo g§^m{dV g_md`d 

Draw the structures of the following compounds : 

(i) Methane 

(ii) Ethane 

(iii) Ethanol 

(iv) Ethanoic acid 

(v) Two possible isomers of Butane, C4H10 

10. H$m~©Z `m¡{JH$m| H$s g_OmVr` loUr H$s n[a^mfm {b{IE & BgHo$ Xmo _w»` A{^bjUm| H$s 
gyMr ~ZmBE & gm_mÝ` gyÌ  CnH2n+1OH  Ûmam {Zê${nV H$m~©Z `m¡{JH$m| H$s g_OmVr` 
loUr Ho$ Vrgao gXñ` H$m Zm_ Am¡a AmpÊdH$ gyÌ {b{IE & 3 

Define homologous series of carbon compounds. List its two main 

characteristics. Write the name and molecular formula of the third 

member of the homologous series of carbon compounds represented by 

the general formula CnH2n+1OH. 
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11. H$m~©Z `m¡{JH$ _| àH$m`m©Ë_H$ g_yh go Š`m VmËn`© h¡ ? (i) EWoZm°b Am¡a (ii) EWoZm°BH$ Aåb 
_| CnpñWV àH$m`m©Ë_H$ g_yh H$m gyÌ {b{IE & EWoZm°b Am¡a EWoZm°BH$ Aåb _| {d^oXZ Ho$ 
{bE {H$gr narjU H$m dU©Z H$s{OE & 3 

What is meant by functional group in a carbon compound  ? Write the 

formula of the functional group present in (i) ethanol and (ii) ethanoic 

acid. Describe a test to distinguish between ethanol and ethanoic acid.  

12. `Ú{n àË`oH$ ZB© nr‹T>r Xmo ì`pîQ>>`m| H$s DNA à{VH¥${V`m| H$m g§`moOZ hmoVr h¡, V~ ^r 
àË`oH$ nr‹T>r _| DNA H$s _mÌm {Z`V {H$g àH$ma ~Zr ahVr h¡ ?  3 

How does the amount of DNA in a generation remain constant, though 

each new generation is a combination of DNA copies of two individuals ?  

13. Ab¢{JH$ OZZ Am¡a b¢{JH$ OZZ Ho$ ~rM VrZ à_wI AÝVam| H$s gyMr Vm{bH$m Ho$ ê$n _| 

~ZmBE & 3 

List in tabular form three main differences between asexual and sexual 

modes of reproduction.  

14. Amhma ûm¥§Ibm Š`m hmoVr h¡ ? {H$gr Amhma ûm¥§Ibm Ho$ {d{^Þ nmofr ñVam| Ho$ ~rM _yb g§~§Y 

Š`m hmoVm h¡ ? g^r Amhma ûm¥§IbmE± nmXnm| (nm¡Ym|) go hr Š`m| Amaå^ hmoVr h¡§ Am¡a CZ_| 

nmofr ñVam| H$s g§»`m gr{_V Š`m| hmoVr h¡ ? g§jon _§o g_PmBE &  3 

What is a food chain ? State the basic relationship between the different 

trophic levels of a food chain. Why do all food chains start with plants 

and have a limited number of trophic levels  ? Explain in brief. 

15. {ZåZ{b{IV àË`oH$ àH$aU Ho$ {bE And{V©V {H$aU H$m nW Xem©Zo Ho$ {bE {H$aU AmaoI 
It{ME : 3 

AdVb b|g na Amn{VV H$moB© àH$me {H$aU b|g Ho$ 

(i) _w»` µ\$moH$g H$s Amoa {ZX{e©V h¡ & 

(ii) àH$m{eH$ Ho$ÝÐ go JwµOaVr h¡ & 

(iii) _w»` Aj Ho$ g_mÝVa h¡ & 

Draw ray diagrams to show the path of the refracted ray in each of the 

following cases : 

A ray of light incident on a concave lens is 

(i) directed towards the principal focus. 

(ii) passing through the optical centre. 

(iii) parallel to the principal axis. 
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16. 6 cm bå~m H$moB© {~å~ 12 cm µ\$moH$g Xÿar Ho$ {H$gr AdVb Xn©U Ho$ _w»` Aj Ho$ 

bå~dV² Xn©U Ho$ Y«wd go 16 cm Xÿar na pñWV h¡ & Xn©U-gyÌ H$m Cn`moJ H$aHo$ ~ZZo dmbo 

à{V{~å~ H$s pñW{V, àH¥${V Am¡a CgH$m gmBµO kmV H$s{OE & 3 

A 6 cm tall object is placed perpendicular to the principal axis of a 

concave mirror of focal length 12 cm. The distance of the object from the 

pole of the mirror is 16 cm. Use mirror formula to find the position, 

nature and size of the image formed.  

 

17. h_| AmH$me _| BÝÐYZwf H$~ Am¡a {H$g {Xem _| {XImB© XoVm ho¡ ? BÝÐYZwf {H$g àH$ma ~ZVm 

h¡ ? Bg n[aKQ>Zm H$m ñnîQ>rH$aU H$aZo Ho$ {bE Zm_m§{H$V {H$aU AmaoI It{ME & 3 

When and where do we see a rainbow in the sky ? How is a rainbow 

formed ? Draw a labelled ray diagram to illustrate this phenomena. 

18. ‘‘Hw$N> ñnrerµO _| ZdOmV H$m qbJ-{ZYm©aU _w»`V… AmZwd§{eH$ AmYma na hmoVm h¡, O~{H$ 

Hw$N> AÝ` ñnrerµO _| `h {ZYm©aU {H$gr AÝ` àH$ma go hmoVm h¡ &’’ Bg H$WZ H$s nw{ï> VrZ 
{^Þ CXmhaU XoH$a H$s{OE & 3 

‘‘The sex of a newborn individual in some species is largely determined 

genetically, while in others it is otherwise.’’ Give three  different 

examples to justify this statement. 

19. Ordmí_ Š`m hmoVo h¢ ?  ò {H$g àH$ma ~ZVo h¢ ? Ordmí_m| H$s Am`w {ZYm©[aV H$aZo H$s Xmo 
{d{^Þ {d{Y`m| H$s gyMr ~ZmBE & 3 
What are fossils ? How are they formed ? List two different ways of 

determining the age of fossils. 

20. _|S>b Ho$ à`moJm| Ûmam `h H¡$go kmV hþAm {H$   

(i) bjU à^mdr AWdm Aà^mdr hmoVo h¢ ? 

(ii) {d{^Þ bjU ñdV§Ì ê$n go d§emZwJV hmoVo h¢ ? 5 
 How do Mendel’s experiments show that 

(i) traits may be dominant or recessive ? 

(ii) traits are inherited independently ? 
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21. (a) J^©YmaU go ~MZo H$s Mma {d{Y`m| H$s gyMr ~ZmBE & BZ {d{Y`m| Ho$ Cn`moJ H$m 

{H$gr n[adma Ho$ ñdmñÏ` Am¡a CgH$s g_¥{Õ na àË`j à^md Š`m| hmoVm h¡ ?   

(b) àË`oH$ AëQ´>mgmCÊS> pŠb{ZH$ Ho$ gyMZm-nÅ> na {ZåZ{b{IV gyMZm {bIr hmoVr h¡ : 

 ‘‘`hm± àgd nyd© qbJ (n¡Xm hmoZo go nhbo b‹S>H$m `m b‹S>H$s) H$s nhMmZ Zht H$s 

OmVr & `h {Z{fÕ h¡ Am¡a XÊS>Zr` AnamY h¡ &’’ 

(i) C„oI H$s{OE {H$ {H$g H$maU go gaH$ma Zo àgd nyd© qbJ-{ZYm©aU H$mo 
{Z{fÕ {H$`m h¡ & 

(ii) qbJ-AZwnmV go Š`m VmËn`© h¡ ? h_| {H$g àH$ma Am¡a Š`m| bmoJm| H$mo N>moQ>o 
n[adma Ho$ _mZXÊS>m| VWm qbJ-AZwnmV 50 – 50 ~ZmE aIZo Ho$ _hÎd Ho$ 
~mao _| {e{jV H$aZm Mm{hE ? 5 

(a) List four methods to avoid pregnancy. Why does the use of these 

methods have a direct effect on the health and prosperity of a  

family ? 

(b) On the notice-board of every ultrasound clinic the following 

instruction is stated : 

 ‘‘Here prenatal sex determination and disclosure of sex (boy or girl 

before birth) of foetus is not done. It is prohibited and punishable 

under law.’’ 

(i) State the reason why the government has prohibited 

prenatal sex determination. 

(ii) What is meant by sex ratio ? How and why can we educate 
people about the small family norms and importance of 

maintaining 50 – 50 sex ratio ? 

22. àH$me Ho$ AndV©Z Ho$ Cg {Z`_ H$m C„oI H$s{OE Omo {H$gr _mÜ`_ Ho$ {H$gr AÝ` _mÜ`_ 
Ho$ gmnoj AndV©Zm§H$ H$mo n[a^m{fV H$aVm h¡ & Bgo J{UVr` ê$n _| ì`º$ H$s{OE & _mÜ`_ 
‘B’ Ho$ gmnoj _mÜ`_ ‘A’ Ho$ AndV©Zm§H$ H$mo BZ XmoZm| _mÜ`_m|, ‘A’ Am¡a ‘B’ _| àH$me H$s 
Mmbm| go g§~§{YV H$aZo Ho$ {bE ì`§OH$ {b{IE & O~ _mÜ`_ ‘B’ {Zdm©V (AWdm dm`w) hmoVm 
h¡, V~ Bg {Z`Vm§H$ H$mo Š`m H$hVo h¢, Zm_ {b{IE & 

 {H$gr _mÜ`_ ‘X’ H$m _mÜ`_ ‘Y’ Ho$ gmnoj AndV©Zm§H$ 
3

2
 h¡ Am¡a _mÜ`_ ‘Y’ H$m {H$gr 

AÝ` _mÜ`_ ‘Z’ Ho$ gmnoj AndV©Zm§H$ 
3

4
 h¡ & _mÜ`_ ‘Z’ H$m _mÜ`_ ‘X’ Ho$ gmnoj 

AndV©Zm§H$ kmV H$s{OE & 5 
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State the law of refraction of light that defines the refractive index of a 

medium with respect to the other. Express it mathematically. Write an 

expression to relate the refractive index of media ‘A’ with respect to 

medium ‘B’ to the speed of light in the two media ‘A’ and ‘B’. State the 

name of the constant when medium ‘B’ is vacuum (or air).  

The refractive index of a medium ‘X’ with respect to medium ‘Y’ is 
3

2
 and 

the refractive index of medium ‘Y’ with respect to medium ‘Z’ is 
3

4
. Find 

the refracetive index of medium ‘Z’ with respect to medium ‘X’. 

23. ídoV àH$me Ho$ {djonU go Š`m VmËn`© h¡ ? BgH$m H$maU {b{IE & {H$gr H$m±M Ho$ {àµÁ_ 
Ûmam ídoV àH$me Ho$ {djonU H$mo Zm_m§{H$V {H$aU AmaoI ItMH$a Xem©BE & H$maU g{hV 
C„oI H$s{OE {H$ H$m±M H$s Am`VmH$ma {g„r ñnoŠQ´>_ CËnÞ Š`m| Zht H$aVr &  5 

What is dispersion of white light ? State its cause. Draw a labelled ray 

diagram to show dispersion of white light by a glass prism. Give reason 

why a rectangular glass slab does not produce any spectrum. 

24. H$maU Xr{OE {H$ H$m~©Z _w»`V: ghg§`moOr Am~ÝY Ûmam hr `m¡{JH$ Š`m| ~ZmVm h¡ & H$m~©Z 

Ûmam AË`{YH$ g§»`m _| `m¡{JH$ ~ZmE OmZo Ho$ Xmo à_wI H$maUm| H$s g§jon _| ì`m»`m 

H$s{OE & H$m~©Z Ûmam A{YH$Va AÝ` VÎdm| Ho$ gmW ~ZmE JE Am~ÝY à~b Š`m| hmoVo h¢ ?  5 

Give reason why carbon forms compounds mainly by covalent bond. 

Explain in brief two main reasons for carbon forming a large number of 

compounds. Why does carbon form strong bonds with most other 

elements ? 

 
^mJ ~ 

SECTION B 

25. H$moB© N>mÌ MZo Ho$ ~rO Ho$ ^«yU H$m àojU H$aZm MmhVm h¡ & dh ^«yU H$m àojU H$a gHo$Jm 

`{X dh ewîH$ MZo Ho$ ~rO H$mo  1 

(A) ewîH$ dm`w _| Eogo hr aIo  

(B) nyar amV gagm| Ho$ Vob _| {^JmoH$a aIo  

(C) bJ^J EH$ gámh VH$ g§V¥á bdU {db`Z _| {^JmoH$a aIo  

(D) nyar amV gmYmaU Ob _| {^JmoH$a aIo  
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A student wants to observe the embryo of a gram seed. He will be able to 

observe the embryo if the dry gram seed is  

(A) kept in dry air as it is 

(B) soaked in mustard oil overnight 

(C) soaked in saturated salt solution for about a week 

(D) soaked in plain water overnight 

26. {ZåZ{b{IV _| go g_d¥{Îm (g_mZ H$m`© {^Þ g§aMZm) A§Jm| H$m ghr Omo‹S>m Mw{ZE : 1 

(A) _|T>H$ Ho$ AJ«nmX Am¡a {N>nH$br Ho$ AJ«nmX 

(B) njr Ho$ AJ«nmX Am¡a _mZd Ho$ AJ«nmX 

(C) njr Ho$ n§I Am¡a {N>nH$br Ho$ AJ«nmX 

(D) njr Ho$ n§I Am¡a {VVbr Ho$ n§I 

Select from the following, the correct pair of analogous organs (same 

function different structure) : 

(A) Forelimbs of a frog and forelimbs of a lizard 

(B) Forelimbs of a bird and forelimbs of a human 

(C) Wings of a bird and forelimbs of a lizard 

(D) Wings of a bird and wings of a butterfly 

27. {ZåZ{b{IV _| go g_OmV A§Jm| H$m ghr g_wƒ` Mw{ZE : 1 

(A) M_JmX‹S> Ho$ n§I Am¡a {VVbr Ho$ n§I 

(B) Jm`, {N>nH$br Am¡a _ŠIr Ho$ AJ«nmX 

(C) njr Ho$ n§I Am¡a {VVbr Ho$ n§I 

(D) H$~yVa Ho$ n§I Am¡a M_JmX‹S> Ho$ n§I 

Select from the following, the correct set of homologous organs : 

(A) Wings of a bat and a butterfly 

(B) Forelimbs of a cow, a lizard and a housefly 

(C) Wings of a bird and a butterfly 

(D) Wings of a pigeon and a bat 
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28. {ZåZ{b{IV AmaoIm| H$m AÜ``Z H$s{OE {OÝh| `rñQ> _| _wHw$bZ H$s ñbmBS>m| H$m àojU H$aZo 
Ho$ níMmV² nm±M {^Þ N>mÌm|, P, Q, R, S Am¡a T Zo Amao{IV {H$`m h¡ &   

 

ghr AmaoI ItMZo dmbo N>mÌ h¢  1 

(A) P, Q Am¡a R 
(B) Q, R Am¡a S 
(C) R, S Am¡a T 

(D) P, S Am¡a T 
Study the following diagrams which were drawn by five different 

students P, Q, R, S and T on having observed prepared slides of budding 

in Yeast.  

 
The students who have drawn the diagrams correctly are 

(A) P, Q and R 

(B) Q, R and S 

(C) R, S and T 

(D) P, S and T 

29. {H$gr N>mÌ Zo A_r~m _| {ÛIÊS>Z Ho$ {d{^Þ MaUm| H$mo Xem©Zo Ho$ {bE {ZåZ{b{IV AmaoI 

ItMo, Omo ghr H«$_ _| Zht h¢ &  

 

BZ AmaoIm| H$m ghr H«$_ h¡ 1 

(A) III, II, IV, I 

(B) III, IV, II, I 

(C) II, III, IV, I 

(D) IV, III, II, I 
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The following figures were drawn by a student to show different stages of 

binary fission in Amoeba, but not in a correct sequence. 

 

The correct sequence of these figures is 

(A) III, II, IV, I 

(B) III, IV, II, I 

(C) II, III, IV, I 

(D) IV, III, II, I 

30. {H$gr ~rH$a _| aIo R>mog ‘A’ _| EWoZm°BH$ Aåb {_bmZo na H$moB© a§JhrZ Am¡a J§YhrZ J¡g ‘B’ 

{ZH$br & Bg J¡g ‘B’ H$mo EH$ naIZbr {Og_| MyZo H$m nmZr Wm, go JwµOmam J`m, {Oggo dh 
Xy{Y`m hmo J`m & Bg àojU go `h {ZîH$f© {ZH$mbm Om gH$Vm h¡ {H$ 1 

(A) R>mog ‘A’ gmo{S>`_ hmBS´>m°ŠgmBS> h¡ Am¡a J¡g ‘B’ SO2 h¡ & 
(B) R>mog ‘A’ gmo{S>`_ hmBS´>moOZ H$m~m©oZoQ> h¡ Am¡a J¡g ‘B’ CO2 h¡ & 
(C) R>mog ‘A’ gmo{S>`_ ŠbmoamBS> h¡ Am¡a J¡g ‘B’ hmBS´>moOZ h¡ & 
(D) R>mog ‘A’ gmo{S>`_ ~mBH$m~m}ZoQ> h¡ Am¡a J¡g ‘B’ SO2 h¡ & 
Ethanoic acid was added to a solid ‘A’ kept in a beaker. A colourless and 

odourless gas ‘B’ was evolved. The gas ‘B’ was passed through a test tube 

containing lime water, which turned milky. From this observation it may 

be concluded that 

(A) Solid ‘A’ is sodium hydroxide and the gas ‘B’ is SO2. 

(B) Solid ‘A’ is sodium hydrogen carbonate and the gas ‘B’ is CO2. 

(C) Solid ‘A’ is sodium chloride and the gas ‘B’ is hydrogen. 

(D) Solid ‘A’ is sodium bicarbonate and the gas ‘B’ is SO2. 

 

31. EWoZm°BH$ Aåb Ho$ ~mao _§o ghr H$WZ Mw{ZE & 1 

(A) BgH$s J§Y g‹S>o AÊS>o O¡gr hmoVr h¡ Am¡a `h Zrbo {bQ>_g H$mo bmb H$a XoVm h¡ & 
(B) BgH$s J§Y ß`mµO O¡gr hmoVr h¡ Am¡a `h bmb {bQ>_g H$mo Zrbm H$a XoVm h¡ & 
(C) BgH$s J§Y {gaHo$ O¡gr hmoVr h¡ Am¡a `h bmb {bQ>_g H$mo Zrbm H$a XoVm h¡ & 
(D) BgH$s J§Y {gaHo$ O¡gr hmoVr h¡ Am¡a `h Zrbo {bQ>_g H$mo bmb H$a XoVm h¡ & 
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Select the correct observation about ethanoic acid.  

(A) It smells like rotten eggs and turns blue litmus red. 

(B) It smells like onion and turns red litmus blue. 

(C) It smells like vinegar and turns red litmus blue. 

(D) It smells like vinegar and turns blue litmus red. 

 

32. {H$gr {dÚmb` H$s à`moJembm _| {ZåZ{b{IV Vob CnbãY h¢ :  

I. EaÊS>r H$m Vob 

II. Zm[a`b H$m Vob 

III. {~Zm¡bo H$m Vob 

IV. I{ZO Vob 

{ZåZ{b{IV _| go dh g_yh Mw{ZE {OgHo$ {H$gr ^r Vob H$m Cn`moJ gm~wZ ~ZmZo _| {H$`m 

Om gH$Vm h¡ :  1 
(A) I, II Am¡a III 

(B) II, III Am¡a IV 

(C) III, IV Am¡a I 

(D) I, II Am¡a IV 
Following oils are available in a school laboratory : 

I. Castor oil 

II. Coconut oil 

III. Cotton-seed oil 

IV. Mineral oil 

Select from the following a group whose any of the oils may be used to 

make soap : 

(A) I, II and III 

(B) II, III and IV 

(C) III, IV and I 

(D) I, II and IV 
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33. à`moJembm _| gm~wZ ~ZmZo Ho$ {bE {ZåZ{b{IV MaUm| H$m AÜ``Z H$s{OE :  

I. NaOH H$m 20% {db`Z ~ZmZo Ho$ {bE R>mog NaOH _| Ob {_bmBE & 

II. NaOH H$m 20% {db`Z ~ZmZo Ho$ {bE Ob _| R>mog NaOH {_bmBE & 

III. NaOH {db`Z _| R>§S>m Vob S>m{bE & 

IV. R>§S>o Vob _| NaOH {db`Z S>m{bE & 

V. Vob Am¡a NaOH {db`Z H$mo {_bmZo Ho$ níMmV² J_© H$s{OE & 

VI. Vob Am¡a NaOH {db`Z H$mo {_bmZo go nhbo Vob H$mo J_© H$s{OE & 

gdm}Îm_ n[aUm_ àmá H$aZo Ho$ {bE dar`Vm {XE OmZo dmbo MaU h¢   1 

(A) I, III, V 

(B) II, IV, VI 

(C) II, IV, V 

(D) I, IV, V 

 
Study the following steps for making soap in a laboratory : 

I. Add water to solid NaOH to make 20% NaOH solution. 

II. Add solid NaOH to water to make 20% NaOH solution.  

III. Pour cold oil into NaOH solution. 

IV. Pour NaOH solution into the cold oil. 

V. Heating after mixing oil and NaOH solution. 

VI. Heating oil before mixing oil and NaOH solution. 

For getting best results the preferable steps are 

(A) I, III, V 

(B) II, IV, VI 

(C) II, IV, V 

(D) I, IV, V 
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34. {H$gr N>mÌ Zo Mma gd©g_ naIZ{b`m± P, Q, R Am¡a S boH$a àË`oH$ _| 10 mL AmgwV Ob 
^am & CgZo Mma {^Þ bdUm| H$s g_mZ _mÌmE± boH$a BZ naIZ{b`m| Ho$ Ob _| Kmobt, O¡go 
P _| NaCl, Q _| MgCl2, R _| CaCl2 Am¡a S _| Na2SO4 Kmobm & BgHo$ níMmV² CgZo 
g^r naIZ{b`m| _| gm~wZ Ho$ gm§Ð {db`Z Ho$ Z_yZo H$s g_mZ _mÌm {_bmB© & àË`oH$ 
naIZbr Ho$ _wI na A±JyR>m bJmH$a CÝh| Xg ~ma Omoa go {hbmZo na CgZo àojU H$aZo na 
`h nm`m {H$ Ho$db Xmo naIZ{b`m| _| ^anya PmJ CËnÞ hþE & `o Xmo naIZ{b`m± hmoZr Mm{hE± 1 

(A) P Am¡a Q 

(B) Q Am¡a R 

(C) R Am¡a S 

(D) P Am¡a S 
A student took four identical test tubes P, Q, R and S and filled 10 mL of 

distilled water in each. He dissolved equal amount of four salts namely 

NaCl in P, MgCl2 in Q, CaCl2 in R and Na2SO4 in S. He then added an 

equal amount of a sample of concentrated soap solution in each test tube. 

On shaking each test tube ten times by placing thumb on its mouth, he 

observed that a good amount of foam (lather) is formed only in two test 

tubes. These two test tubes must be 

(A) P and Q 

(B) Q and R 

(C) R and S 

(D) P and S 

35. {H$gr XÿañW {~å~ Ho$ à{V{~å~ H$mo µ\$moH${gV H$aHo$, {XE JE AdVb Xn©U H$s µ\$moH$g Xÿar 
{ZYm©[aV H$aZo Ho$ {bE, nX©o na µ\$moH${gV H$aZo Ho$ {bE MwZm J`m gdm©oÎm_ XÿañW {~å~ hmoJm 1 

(A) gy ©̀ 

(B) à`moJembm H$s _oµO Ho$ XÿañW {gao na aIr ObVr _mo_~Îmr  

(C) à`moJembm H$s {I‹S>H$s H$s bmoho H$s {J«b 

(D) ^br-^m±{V àXrá XÿañW ^dZ  
While determining the focal length of a concave mirror by obtaining the 

image of a distant object, the best choice of the distant object to be 

focussed on a screen would be  

(A) The sun 

(B) A burning candle placed at the distant end of the laboratory table 

(C) The iron grill of the laboratory window 

(D) A well illuminated distant building 
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36. {H$gr XÿañW {~å~ H$mo {XE JE CÎmb bo§g Ûmam µ\$moH${gV H$aHo$ CgH$s µ\$moH$g Xÿar {ZYm©[aV 
H$aVo g_` h_ nX©o na {Og {~å~ Ho$ à{V{~å~ H$mo àmá H$aZo H$m à`mg H$aVo h¢, dh 
à{V{~å~ hmoVm h¡  1 

(A) grYm Am¡a ~hþV N>moQ>m 

(B) CëQ>m Am¡a ~hþV N>moQ>m 

(C) CëQ>m Am¡a {dd{Y©V 

(D) grYm Am¡a {dd{Y©V 
While determining the focal length of the given convex lens by focussing a 

distant object, the image of the object we try to obtain on the screen must 

be  

(A) erect and highly diminished 

(B) inverted and highly diminished 

(C) inverted and magnified 

(D) erect and magnified 

 

37. H$m±M Ho$ {àµÁ_ go JwµOaZo dmbr àH$me {H$aU H$m nW Amao{IV H$aZo Ho$ {bE, g~go Cn ẁº$ 
AmnVZ H$moU Ho$ _mZm| H$m n[aga h¡ 1 

(A) 15 – 75 

(B) 20 – 70 

(C) 30 – 60 

(D) 40 – 70 

 

For tracing the path of a ray of light through a glass prism, the most 

appropriate range of values of angle of incidence is 

(A) 15 – 75 

(B) 20 – 70 

(C) 30 – 60 

(D) 40 – 70 
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38. {H$gr N>mÌ Zo H$m±M Ho$ {àµÁ_ go JwµOaZo dmbr àH$me {H$aU H$m nW Amao{IV H$aHo$ {MÌ _| 
Xem©E AZwgma AmnVZ H$moU ( i), AndV©Z H$moU ( r), {ZJ©V H$moU ( e) VWm {dMbZ 
H$moU ( D) A§{H$V {H$E &   

 

{OZ H$moUm| H$mo ghr A§{H$V {H$`m J`m h¡, do H$moU h¢ 1 
(A)  i Am¡a  r 

(B)  r Am¡a  D 

(C)  i Am¡a  e 

(D)  i Am¡a  D 
A student traces the path of a ray of light through a glass prism and 

marks the angles of incidence ( i), refraction ( r), emergence ( e) and 

deviation ( D) as shown in the figure. 

 
The correctly marked angles are  

(A)  i  and   r 

(B)  r  and   D 

(C)  i  and   e 

(D)  i  and   D 
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39. CÎmb b|g Ûmam ~Zo {H$gr {~å~ Ho$ à{V{~å~m| H$mo, {~å~ H$s {d{^Þ Xÿ[a`m| Ho$ {bE, 
Amao{IV H$aZo Ho$ {bE Xmo Amn{VV {H$aU Mm{hE± & ZrMo Xr J`t {H$Z Xmo {H$aUm|, {OZHo$ 
CÎmb b|g go AndV©Z Ho$ níMmV² Ho$ nW Xem©E JE h¢, H$m Bg H$m`© Ho$ {bE Cn`moJ {H$`m 
Om gH$Vm h¡ ? 1  

 

(A) I Am¡a II 

(B) II Am¡a III 

(C) III Am¡a IV 

(D) II Am¡a IV 

To draw the images of an object formed by a convex lens, when placed at 

various positions, which of the following two rays, whose paths after 

refraction through a convex lens are shown, may be used ? 

 

(A) I and II 

(B) II and III 

(C) III and IV 

(D) II and IV 
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40. {H$gr N>mÌ H$mo CgHo$ {ejH$ _hmoX` Zo 15 cm µ\$moH$g Xÿar H$m CÎmb b|g XoH$a, {~å~ H$mo 
{d{^Þ Xÿ[a`m| na aIH$a àË`oH$ {~å~ Xÿar Ho$ {bE g§JV à{V{~å~ Xÿar kmV H$aZo Ho$ {bE 
H$hm & Cg N>mÌ Zo gwì`dpñWV T>§J go à`moJ H$aHo$ AnZo àojUm| H$mo ZrMo {XE AZwgma 
gmaUr _| ZmoQ> {H$`m :  

H«$_ g§»`m {~å~ Xÿar (cm) à{V{~å~ Xÿar (cm) 

1 20 60 

2 22.5 45 

3 25 39.5 

4 30 30 

5 37.5 25 

6 45 22.5 

àojU gmaUr H$s Om±M H$aVo g_` {ejH$ _hmoX` Zo `h$ g§Ho$V {X`m {H$ BZ_| go EH$ àojU 
_| à{V{~å~ Xÿar H$mo ZmoQ> H$aZo _| µJbVr hmo JB© h¡ & µJbV ZmoQ> H$s JB© à{V{~å~ Xÿar Ho$ 
àojU H$s H«$_ g§»`m hmo gH$Vr h¡  1 
(A) 2 

(B) 3 

(C) 5 

(D) 6 

A student was asked by his teacher to find the corresponding image 
distance for each of the object distance keeping the object at various 
distances in case of a given convex lens of focal length 15 cm.  The 
student performed the experiment methodically and noted his 
observations in the following table : 

S.No. Object distance (cm) Image distance (cm) 

1 20 60 

2 22.5 45 

3 25 39.5 

4 30 30 

5 37.5 25 

6 45 22.5 

While checking the observation table the teacher pointed out that there is 
a mistake in recording the image distance in one of the observations. The 
incorrectly noted image distance may be in the observation recorded at 
the serial number 

(A) 2 

(B) 3 

(C) 5 

(D) 6 
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41. Mma N>mÌm| P, Q, R VWm S Zo 45 AmnVZ H$moU H$s Amn{VV àH$me {H$aU Ho$ {bE H$m±M 
H$s Am`VmH$ma n{Å>H$m go JwµOaZo dmbo nW H$mo Amao{IV H$aZo Ho$ níMmV² g§JV {ZJ©V H$moU 
H$s _mn br &  P, Q, R Am¡a S Ho$ {bE {ZJ©V H$moU H$s _mn| H«$_e: 42, 46, 48 Am¡a 
55 Wt & ghr T>§J go à`moJ H$aZo dmbm/dmbo N>mÌ h¡/h¢ 1 

(A) P Am¡a Q 
(B) Q Am¡a R 
(C) Ho$db S 
(D) Ho$db Q 
Four students P, Q, R and S traced the path of a ray of light passing 
through a rectangular glass slab for an angle of incidence of 45 and 
measured the corresponding angle of emergence. The values of angle of 
emergence obtained by them were 42, 46, 48, 55 respectively. The 
experiment was correctly performed by 

(A) P and Q 

(B) Q and R 

(C) only S 

(D) only Q 

42. H$moB© N>mÌ {H$gr H$m±M H$s Am`VmH$ma n{Å>H$m go JwµOaZo dmbr àH$me {H$aU H$m nW Amao{IV 
H$aZo Ho$ níMmV² ZrMo {MÌ _| Xem©E AZwgma AmnVZ H$moU ( i), AndV©Z H$moU ( r) VWm 
{ZJ©V H$moU ( e) A§{H$V H$aVm h¡ &  

 

ghr A§{H$V {H$E OmZo dmbm/dmbo H$moU h¡/h¢ 1 
(A)  i Am¡a  r 
(B)  r Am¡a  e 
(C) Ho$db  e 
(D) Ho$db  r 
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A student after tracing the path of a ray of light through a rectangular 

glass slab marks the angles of incidence ( i), refraction ( r) and 

emergence ( e) as shown. 

 
Correctly marked angle (angles) is (are)  

(A)  i and  r 

(B)  r and  e 

(C) only  e 

(D) only  r 

600 
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